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2 | KM o B mtishanz s 2.0 11.0 0.0 0.0 0.0 0.0 0.0
1 1 12 12 12 12 12 12
0.0003 7% |0.0003 /T _[0-0003/<% _[0-0003m _|0.0003 /T |0.0003 /T |0.0003A47m _|0.0003A7m
3 IRIV LK OZEDILEW mg/1{0.003LL F 0.00034i#  [0.00034#  10.00034 |0.000344w 0.000374# 10.000344w [0.00037i [0.0003 44
1 1 4 4 4 4 4 4
- 0.00005K7m [0.000067% |- 0.00005K7% [0-0000647% |- = =
a4 KRB OZED/LA mg/1]0.0005LLF 0000055 [0.000055 |- 0.000054ii5 10000054 |- - -
1 1 - 4 4 - - -
0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
5 | 2L R OEOILAEY 4 mg/1{0.01LLF 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
< 1 1 4 4 4 4 4 4
& 0.0017m _ [0-001 0.001ATm _ [0.001A<m _ [0-001A<fm  [0.001A<#  [0.001Am  [0-001A<Tm
6 [r N ED(LEY mg/1{0.01LL F 0.0015&4#  0.001 0.0015%0#  |0.00154  [0.0014#%  [0.00144#%  [0.00144%  |0.00154
1 1 12 12 4 4 4 4
0.001 0.001 0.001 0.001 0.001km _ |0.001 0.001 0.001
T |eFE L OZDOEY mg/1{0.01LL F 0.001 0.001 0.001 0.001 0.0015i%  0.001 0.001 0.001 %
1 1 4 4 4 4 4 4
0.0054<Tm _ [0.0054  [0-006<7m _ [0.0064<7m  [0.006A<%  [0.0054<7  [0-0054<7m  |0-006 1w
A P iA=FN 4] mg/1[0.05LL 0.00557#  [0.005544i#  |0.00544#  |0.0054#  |0.00574%#  |0.00540  [0.0055K7H  [0.00554iH
1 1 4 4 4 4 4 4
0.007 0.0004m |- 0.00km__ |0.000Rm |- = =
Fo [HinypEREEE R mg/1]0.04LL T 0.007 0.004Ki# |- 0.00444#%  0.004Ki5 |- - -
1 1 - 4 4 - - -
R i 0.00 KW [0.000Rm |- - = 0.001K7m  [0-001Kim  [0-001Kim
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60 1 1 12 12 4 4 4 4
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A8 |hr=r mg/1{0.4LL 00454 00454 00454 00454 0.047%  [0.04Rd  |0.04%  [0.045%
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H13|> 77 th=r/L mg/1]0.01L4 F(EFE[0.00150  0.001K4 0.001K7i  |0.001K5 |- - -
1 1 1 1 - - -
— —[0.002FTm  [0-002K1% 0.0020m  |0.0020m |- = =
14|k r7as—1 mg/1]0.0284 F(EFiE[0.0027  0.0025K: 0.0025K7i  |0.002K5 |- - -
1 1 1 1 - - -
. 4 0. TR 0. TR 0. TR 0. TR - - -
H 15|30 R 12U T 0. 1A 0. 1A 0. 1A 0. 1A - - -
1 1 1 4 - - -
- - = = 0.8 0.3 0.7 0.6 0.7
H16|/k&@ % mg/1| 184 F - - 0.6 0.7 0.6 0.4 0.5
- - 226 244 12 12 12
— - 58 T3 8T e} 52 ({3 53
H17| T, <7 33 I () mg/1|10~100 58 43 63.1 113 435 53.5 145
1 1 12 4 4 4 4
- - - 0.003 0.023 0.00km__[0.002 0.001 0.001 0.001
H18[~ W B OZDILAEY mg/1]0.01LL F 0.003 0.023 0.0015%  [0.001 0.002 0.001 0.002
1 1 12 4 4 4 4
. - 0.0 T8 5.2 7.6 7.6 7.6 7.6
H 19|08k b e mg/1|20LL F 0.0 1.8 3.3 2.0 2.0 2.0 2.0
1 1 4 4 4 4 4
- 0,037 0,037 (RS 0.00RMG  [0-00M  [0-034  [0-03HK1%
H20[1, 1, 1—N)ronx=Z mg/1{0.3LLF 0.0343ii 0.0343ii 0.03Afi 0.03Afi 0.03Afi 0.034fi 0.034%fi
1 1 4 4 4 4 4
N — - 0.002m _ [0.0020 0.002 0w |0.0020m |- = =
A21|AF Vv —t—7F)Lx—F /)L (MTB mg/1{0.02LL F 0.00247  [0.0024 0.002K7  [0.0024K4 |- - -
1 1 1 1 - - -
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1 1 12 4 4 4 4
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1 1 2 12 12 12
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: T [330 1T 552 T 5 15 15
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- - 0.0 KM 0.0 KM 0.0 KM 0.0 KM 001w [0.01m  |0.00AKTm  [0-01Am
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1 1 4 4 4 4 4 4
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_ _ 1 1 _ _ _ _
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